27 + 18y — 30z = 15 (1)
goooooo
ged(27,18,-30) =30 150000000 (1) ODOOOOO
()0 30000

9x + 6y — 10z = 5. (2)
001 s=min{|9],|6],] — 10|} = 6.

9r 4+ 6y — 102 = (6-1+3)z+(6-1+0)y+ (6-(—2)+2)z

= 6(r+y—22)+3x+22

000 (2)0
u=1x+y—2z (3)
6u+3x+2z=25 (4)
oood

002 (49)00000s=min{|6],[3], 2]} = 2.

6u+3r+22 = (2-3+0)u+(2-14+1)z+(2-1+0)2

= 2Bu+x+2)+x

000 (4)0
v=3u+x+=2 (5)
20+x =95 (6)
HRNRERE

003 (6)0 s=min{|2/,|1|}=10000000000
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r=5—2v
(vOOOoOoOoo).

ooo ()0 (7)Doo
z=v—3u—xrx=v—3u—(5—2v)=—-3u+3v—-5
(3)(7)(8)0 O
y=u—x+2z2=u—(b—2v)+2(—3u+3v—0>5)
= —du+8v—15
6)8)(9)yoooood

r = —20+5
y = —ou-+38v—15
z = —3u+3v—5>5.

000 wveZ0O000000 (z,9,2)0 ()0000000
0000000 (x,y,2) 0000000000 w,veZ00000
w0 v000000 (parameter) 00000000000 0OOO
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